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wrenfaal & ford FE

Instructions for the candidates :

1. e wardva v st 7 @ I 7
Candidates are required to give their answers in their own words as far as
practicable.

2, ofed st ferd wr R qU 3 yoiles Fffe #d &1

Figures in the nght hand margin indicate full marks.

3. 3g ST & WAgEE g & o 15 e @ sifafte wwa R w1
15 minutes of extra time has been allotted to read the questions carefully.

4. 7 FFIA 3 GUS W fave &, JUE-I U9 GvF-T/
This question paper is divided into two sections — Section-A and Section-B.

5. @vg-I § 48 awgve w7 & [ so5v sifvard &1 afc et 407 i gt
& IW dd/3A &, al w99 40 I F & qeAiHT W AWM AQE 5 F o
1 3% filtd # | OMR I7-93% T RY 10 @@t ga &1 Ict/Act et 97 & 971 freit

W} WE & g@rFeAv / aveT Werd / &% / AT HE T OMR IAV-9AF ¥ WAT
T&T & =T THHT IO I A
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ns out of which 40 questions are

o
In Section-A there arc 48 objective type questi stions, the first 40 answery

c .
compulsory. If the candidale answers more than140 q’-‘k Darken the correct cirgle
mes 1 maf

only will be evaluated. Each question ca o
given on the OMR answer shect with black / blu;:a:::'ur 4
liquid material / blade / nall etc. on the O

result will be {nvalld. gdte v &1 T T &
6. wWvEg- i grmtrs fara & I FA s fvat & Y

e 2 3w fFiifeer &1 ons of § subjects of Social

In Section-B there are Short Answer Type queseon

Science. Each question cames 2 marks. ) : & ey
. 3 ' fEal 3 &¥Ar & It /
w3 i s 72 777 (Q.Nos. 18 ¢ i 3 31 to 5) out of which any
History has 5 Short Answer Type questions (Q. Nos.

3 questions are to be answered. '
rerify faar i 6@y 3ita 5% (Q. Nos. 8 § 13 3 frasi el 29901 & Im
v & Nos. 8 to 13) out of

Political Science has 6 Short Answer Type questions (Q

which any 2 questions are to be answered. N & g
srefvrer i 3eny 3la w¥ (Q Nos 168 18) &, s et 297 & I & &1
Economics has 3 Short Answer Type questions (Q. Nos. 1610 18) out of which any
2 questions are to be answered _

s 1 5 ey 3 WE (Q Nos. 21 & 29 & frmid i 3wvl & IW ¥ &
Geography has § Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 questions are lo be answered.

HTTIT T i 4 7y 309 5 (Q. Nos. 28 @ 31) &, el feei 2wl & Im
&1 &

Disaster Management has 4 Short Answer Type questions (Q. Nos. 28 to 31) oul
of which any 2 questions are to be answered.

g% Jifafe 8 Thi IRTa X¥F (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) & | I 977 &
fere 4 3w Fiifea &1 sfarme, oaetia famm, simer od s o geld # 0F-0F
¥ &1 I & &

Apart from these, there are 8 Long Answer Type questions (Q. Nos. 6,7, 14, 15, 19,
20, 26, 27). Each question carmes 4 marks. One Long Answer Type question each
Jrom History, Political Saience, Economics and Geography is to be answered.

7. [&6) @R & setagifae IyFT0T &7 I9GNT TET F

Do not use any type of electronic instrument.
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WYY - ¥ / SECTION- A

u«jﬁmm / Objective Type Questions
WY W 1 8 48 AW & g 0y & ww v e fv mo & Pk ® o w4

373 gy g3 v wnt e ) oMR ¥z wT RifeTE w1 %A 40 WA & O IAT §

40 x 1 =40
Question Nos. 1 to 48 have four options ecach, out of which only one is correct. Mark your

Selected option on the OMR shect. Answer any 40 questions. 40x1 =40
L fedte mergz & o qae d @R e w 3wy it g ® e e &
fere g 2

(A) TR |

(C) N JD!/‘FW"W

After the second great war which organisation in Europe emerged to remove the

economic ill eflects ?
(A) SAARC (B) NATO

(C) OPEC (D) European Union

2. [&w &, o P Qg e 3 ¢, wER 9w A 2

(A)  HET T (B) TIRA W

(C) TEwg Y=t (D) ¥ lE

Who said printing is the greatest gift of God ?

(A)  Mahatma Gandhi (B) Martin Luther
(C}  Prophet Muhammad (D)  Jesus Christ
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s v e € @ S g FE 2

(B) 17 74
@ 16T
.-' o 19 a
ey 18
What is the minimum age to be a voter in India ?
(A] 16 years (B) 17 years
(C) 18 years (D) 19 years
4 wRa 3 FRE WER @ e o € 2 |
(A) 3R s () §dd 3R wHLA
€) UETEE 3N Ui D) T&HHF A ddr
What type of syatém of government is there in India ?
(A)  Fedecral and Presidential (B) Fedcral and Parliamentary
(C)  Unitary and Presidential (D)  Unitary and Parliamentary
5. ORd W FaA & mi‘n‘q@ TARF T ¢
(A)  9fFaw dme By RGUS
(c) ifem - D) oA
The leading coal producing state in India is
(A)  West Bengal (B) Jharkhand
(C) Odisha (D) Chhattisgarh

6. NI F Y AF-3WE IS IAM &
(W e S S T w9 Isco)
ﬁ/mmmmmmscol
© R we fed
o) fadrata e R @@ @

11T 1T H | gen11.11 iiadl

Nama A ofFMa



The first iron and steel producing industry is
(A)  Indian Iron and Steel Cémpnny (11SCO)
(B) Tata lron and Steel Company (TISCO)
(C)  DBokaro Steel City

(D)  Viswesvaraya lron and Steel Plant

7. w@hm o gEfua @

Al ©Ea By TEH ot |
©) W A A (D) AR
Golden Quadrilateral is related to
(A)  Railways (B) Roadways
(C)  Watcrways (D)  Airways
8.  TIUZH URE €
TR G R (B) iR TR o
() Tiferl § (D) BwH
Gandak project is in
(A)  Bettiah (B) anmikim;gar
(C)  Motihan (D) Chapra
9. a4 @ FF-W & am Fwaits Hash F T T/ ¢ ?
(A)  FFF & TR FHAI (B) A wE e A
oy IR VIR el (D) EEHETH F AT
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: ratic systcm ?
Which one of the following is not according to the democ

ir election
(\)  Equality before law B) Free and fal

jont
(C)  Responsible ruling system (D)  Rulc of majo y

10. TR FI Fhee R aR &
(A) AR A IR T/
(B) AR A R-F FER T
(), e 1 Farert Fewiml 9T
(D) AMftet Zr 3t wfa & fral W W
Success of democracy depends on
(A}  disintcrest of citizens
{(B) illegal activites of citizens
(C) ngtivc participation of the citizens

(D)  sccure the bencfits of their caste by the citizens
11, &EaR & 9E H 0 FUNOTE §
(A) ¥ &R T B) Wi
(€ [T T Dy FEmaER
Bad cflect of feeling of regionalism is
National interest

(A)  Attachment to own region (B)

(C)  National integration (D)  Separationalism
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12 i
W7 st g (B)  TARKIOY TN
(C) a3 Hanm (D) T A F T
Conl is
(A) Non-rencwable resource (B) Rencwable resource
(C)  Biotic resource (D)  None of these
13. &I R
(A" ST TR (B) W TR
(€) FEFE 39 (D) ¥ § FK
Landslidc is
(A)  Natural disaster (B) Man induced disaster
(C)  Normal disaster (D) None of these
14. TEEIR A & H9 H1 RN §
() fergem (B) oA
Sor” g D) ¥ W HE TE
The result of vibration of ocean bottom is
(A) Avalanche (B) Cyclone
(C) Tsunami (D)  Nonc of these
[111 ] H [S5011-H ps)
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15. Tdfﬂ ) W M aARan qa.z;}?ﬂ’i-ﬂ \[le-iit’l 2

16.

17.

w @ a @ A
y — EARLY

The scismic wave reaching the carth's surfnce first i}

(A)  Pwave B) Swave

(C) L wave (D) Twave

AR & T &

A) WA B R

(C) WA A oy~ T AT T

Tsunami is related to

(A} Land (B) Sea

(C) Sky _ (D)  Nonc of these
QT T T FA A G P R 2

(") FH T o s o ¥
(C) WriES FiW @ wEf (D) ¥ A F§ T

Which institution promotes long term loans ?
(A)  Agricultural lenders

(B) Land Development Bank

(C) Primary Agr;icultural.Crcdit Society

(D) Nonec of these
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iy iex frem s Ao s s § 2
(A e B fom
() frmn ot oy~ dmam

Which in the third sector of Economic development ?

(A)  Agriculture sector (B) Science sector
(C)  Education sector (D)  Service sector
19. =it anfaw sifa o fed wfedfan fem ? http://www.bsebstudy.com
(A FERIE @ Frltem
(€) Anftem y’ WA et

What was included in the New Economic Policy ?
(A) Liberalisation (B) Privatisation

(C) Qlobalisation (D) All of these

20, I ERT P wrae w1 & feg Sk e fe e € 7

(A) 50%0 B) 7030

1”10 Fe @ VA wt

What is the application fee for making a complaint by the consumer ?
(A) Rs. S0 B) Rs.70

(C) Rs. 10 (D) No application fee
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21. mﬁwfmﬁﬁmm?f

-~

. Ralls
A) 17 _15’/ .
(€) 19 3 LIRS 3

When is Consumer Rights Day celebrated 7

(A) 17th March (B 15th sMarch
(C)  19th Apnl (D) 22nd Apnl

23. é&ﬁm#:qmmr’rafzk J

Ay @ B 7
Jcl' dra TR IL!

How many [actors constitute globalisation ?

(A) One (B) Two
L(Ol/ Five (D) Four

23 ®R-E Fm R X 2

@A) ¥ T B AR

N | H wE D) =AW

Which of the following is a non-government service 7
(A)  Police service (B] Finance service

(C)  Mall service . (D) Railway service
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vRA # fadily T e R #t ww md o

24
\__l-'\!/ Tlﬁfi (B) by
@ e D) R
Which is the financial capital of India ?
(A)  Mumbaij (B) Delhi
(C)  Patna (D) Bengaluru
25, W9 U HI Ao 79 ¢
Ay Tefea wfaum @) vfewdl &1 faiem
(C) e W (D)  warea e
Which is not a characteristic of a fcd;:rnl state ?
(A) Written constitution (B) Power distribution
(C)  Unitary ruling system (D) Supreme Judiciary
26. §Y T HT ITE &
QA s B M
) fr= (D) ¥ A F I
The example of federal government is
(A) Amcrica (B) China
(C) Britain (D)  None of these
27, mﬁ@@mm#qaﬁqfaﬁaaﬁa%a#m ?
() TRRS 9w () T FW
© e i - WO
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, Complete Revolutigy,
Who among the following led the Sumpurni Krantl ( ) In

Bihar ?
11ahy Kumar
(A)  Morarnji Desai (B) Nitish
arayan
(€)  Indira Gandhi D) Jay prakash Naray

T am————y Y AL
W) e srmEw @ @ a ¢
B) w & drg zaw ® wEra & R €
() wmmmw%mwﬂmmm*
(D) maﬁuﬁaﬁdﬁﬁﬁﬁémisa\ﬂmmwmfmt
On which of the following points did democratic system get SUCCESS ?
(A)  Abolished the political differences
(B)  Abolished the conflicts between the people
(C)  Majority and minority groups are treated cqually |
(D)  Reduces the cconomic grade for the pocple standing in the last line
29, T wE g (Fre dem 3uwe) w1 wa feafery @ € 2
(A) T U & few B A fam & fag
() HEnEl @ @ & fee Py A & fer

For which purpose is remote sensing satellite used ?

(A)  For telecommunication (B) For meteorology

(C)  For searching the resources (D)  For television
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30. Pt @7y @ s ddeie b

A WA (B)

(C) ke Dy

Which of the following is the most sensitive city to earthquake ?

(A)  Dchradun (B) Ranchi

(C) Hyderabad (D) Chennai

31, Fadifm o mmsnamd

(A) U9E (B) &
oy~ fam D) feeedt

Which of the following is called backward state ?

(A)  Punjab (B) Kcrala

(C) Bihar (D)  Delhi

32. 9RA ¥ faditg a8 S5 F@ T g 2
A) 19 R 31 rweR o (B) 1R ¥ 30 A aF
Cr 1 30 | 3109 a® (D) 1 faa=R | 31 3TE A%
Which of the following is Financial year in India ?
(A) From 1st January to 31st December
(B) From 1st July to 30th June
(C) From lst April to 31st March

(D) From lst September to 31st August
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34,

B3 W ) farg e 4 faa e g [ ?
G|
(A} wamta (13) Wi LRI

(€)W T Ll

’ ?
In which post did Victor Emmanucl appoint Count Cavour

(A} Army Chief (B)  Ambassador in France
(€)  Prime Minister (D) Home Minister

W wd &g a sifa @ e fee i a2

() st JBT fezer

() fawm p) fafeam

Who started the policy of blood and iron ?

(A)  Mazzini (B}  Hitler

{C)  Bismarck (D)  William |

WA WA F GEA FA T g G102

(A} FH (B) M

"~

(€ d9H (D)
Where was the first experiment of the communist governance started ?
(A) Russia (B) Japan

(C) China {D) Cuba
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an

38.

39.

s wift w1 5 2

A w@EN, 1917 B) T, 1917

() 3, 1917 . o) Feem, 1905
When did the Bolshevik revolution take place ?

(A} February, 1917 (B) November, 1917
(C)  April, 1917 | (D) September, 1905
Fiet amira faga ofedern fa e o wafoa 8 2

W g | B W=

) TR (D) R R

In which district is Kanti Thermal Power Project situated ?

(A) Pumnia (B) Siwan

(C)  Muzaffarpur (D) East Champaran

o gy FE1 R € ?

Ay TR | (B) AR

© WR (D) N

Where is the railway workshop situated ?

(A]  Jamalpur (B) Bhagalpur
(C) Munger (D) Patna
T T @ FRO HE 2
(Y W B) e & o g
(€ A W D) A H T
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L\ \
Wi the main caune of Tsunami 2
(Al Eanthquake n sea

(€C)  Earthquake on mountain

0. Fmg wn R )y
g "l s
(C) UL 3T
What 1s drought ?
(A) Natural disaster
(C)  Normal disaster
A1 dEE R fela @ g e e
(A) T
() A qeERy

in plain arcs

The main cause of land degradation in Punjab is

(A)  Decforestation
(C)  Ovcrgrazing
42. I IRR A A F WA A&

(A)  55%

.9/ 65%

Amount of water present in human body is

(A)  55%

(C) 65%

() l‘lurlhqllnkc

(D) Nonc of these.

p) A Aferet 24
(D) gz 13 T

(B) Man-made disaster
(D) None of these

@) TR a
(py” fararé

(B) Intensive cultivation
(D)  Overirrigation

(B) 60%

(D) 70%

(B) 60%

lD' T0%
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13 T MG wNa dme wiwa X o o o

(A T M 3ifer

C) &
(D) wg3n

Whi :
hich of the following creatures is found only in India ?

(A) Crocodile (B) Dolphin

C
(€)  Whale (D)  Tortoise

34, VIR UM T G e e &

I i B dEER
€ TR (D) ©% 3T

The main raw matcrial of cement industry is

(A)  Limestone (B) Bauxite

(C)  Granite (D) Iron ore
45, f&=-99 g At wuw S e 9 2

(A) s (B) SRIEH

s ERRIG " ) =9
Who were the first merchant to arrive Indo-China ?
(A) England {(B) French

(€ Portugal (D) Dutch .
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a0

47

48.

wirra s aicea wa vjE g3 7

)u/ 1030
A 1920

(C) 1935 o) 1942

When did the civil disobedience movement atart 7

(A} 1920 | 1930

(C) 1935 o) 1942

I Fw-gera 3o &
wy sifem 3 @ S A

(€} "% p) fFER I q
Rourkela iron and stecl industry is in

(A)  Odisha (B) Jhaltknnd

(C) Madhya Pradesh (D) West Bengal
i T @ g R TR @ Iz &) wgfa 52 .
1wy waier s (B) HTHEE Tgid
€ Fpr v (D) G g

Which type of attitude emerged in urban system lcaving the fcudal system

behind ?  http://www.bsebstudy.com
(A)  Progressive attitude (B)  Aggressive attitude

(C)  Orthodox attitude (D)  Exploitative attitude
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7Usg - 4 / SECTION - B

3fae / History
A IA{ W7 / Short Answer Type Questions
gv7 AT 18 Swﬁgm#ailﬁﬁ#féﬁ«?sw#*milmm&m

gsﬁi'ﬁmﬁﬁ ih 2x2=6

Question Nos. 1 to 5 are Short Answer Type. Answer any 3 questions. Each question

carmies 2 marks. 3x2=6

e A R e d R @ s # 2 2
What was the role of Austria in the unification of Italy and Germany ?

5 ZiEl ATAT T FT FYE 91 2 2
What was the objective of Dandi March ?

3 g i wee 9T s dn’” ol F 2
"Non-cooperation movement was the first mass movement.” Comment.

a. mﬁmﬁm%‘laﬁfaﬁia&Mmﬁm&HM? 2
How did industrialisation influcnce the livelihood of labourers ?

2

rfm%ﬁmuﬁﬁmﬁmﬁwﬁs

ristics of agro-cconomic activities of villages.

w

Mention the characte

ﬁ&ﬁ'&'ﬂm |/ Long Answer Type Questions
gy W@ 6 A 7&#m’h#:yﬁ'#:%rﬁwwm#:n#$mtﬁv 4 3T

fertfear &1 I1x4=4
Question Nos. 6 and 7 are Long Answer Type. Answer any one of them. Each question
1x4=4

carries 4 marks.
6. gﬁl%@’mmﬁﬁﬁﬁ.wﬁnﬁﬂaﬁﬁ%mﬂﬂaﬂﬁl 4

Mazzini, Cavour and Garibaldi in the unification of

State the contributions of

[taly.
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7 7 it sifa o X 2 fadan it

What is New Economic Policy ? Discuss.

it faarT / Political Scienc®

WY JAIT W¥T / Short Answer Type Questions
v &
v v 8 107w g e 1y fae 2 & 3 1A : 2@,?
2 % fifra )

stions. Each question
Question Nos. 8 to 13 are Short Answer Type. Answer any 2 questio’

2x2=4
cames 2 marks.

B WA 1 o AeE A SEREaT A E 2 wme a0 <
How arc the caste based differences prevalent in India ? Explain.
e e w5 e e 2 2
What is the im;.)orlancc of Power sha!'ing in dc.rnocmcy ?
10. RN IR F @IV AL 2 2
What were the main reasons for the students’' movement in Bihar ?
L R e & s F 3 w2 2
, How do you sce the future of democracy in India ?
y HIAHAR FbeA @ At €1 R 2 2

Terrorism is a challenge for democracy. How ?

13, Wl FE | Fieed S e 3R S W e e fag ) 2

Write a short note on the responsibility and objective of democracy in the
coming socicly.
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; . At W/ Long Answer Type Questions
g7 WOAT 14 U4 wmmi""ﬁ#ﬁwﬁwwzﬁ?i:mm&ﬁv
4‘”-1 #’ I1x4=4

ouestion Nos. 14

Questiont £ and 15 are Long Answer Type. Answer any one of them. Each question

cames 4 marks, I xd =4
_r

14 ”“”“‘M“?Wmsﬁwmzﬁhaﬁmmﬁ&ﬁ%m\‘numtmfl
#an feafa o §) 4

-

Mention different aspects of life in which in India there is discrimination against

women and they are in weak position.
15 VR s ¥R A @ wE f !

How could democracy be successful in India ?

mlfkonomica
oy IAAT Oy / Short Answer Type Questions
uyT Woar 16 ® 183% Ay IAiw §1 A6 § et 2991 & v 1wl 4 & fy
2 3% futfea #1 2x2+4

Question Nos. 16 to 18 are Short Answer Type. Answer any 2 questions. Each question

cames 2 marks. 2x2=4
6, seaed f6R Fwd € 2 2
What is Economy ?
V7 W T & g EE i ] 2
Explain the relationship between Income and Poverty.
2

187 ATM 1§ ?

L

What is ATM ?

1111 MeEnv M ol Page 21 of 24



%t 3aia W¥A / Long Answer Type Questions P
w7 qea 19 vd zoﬂtfmﬁvﬁﬁi#ﬂm?qwmmftmm*

2 y -4
4 3% Fratfa 1 124 .
~ 5 11{%
Question Nos. 19 and 20 are Long Answer Type. Answer any onc of them. Each ques .
[ x4~

cames 4 marks.

19, mﬁmtmmmi?mtmﬂmﬁqﬁmmwﬁ' 4

. : in
What are the important clements of co-operation ? Explain its role

development of a state,

JO-/ fwi’ﬁfmmmmtmﬁfwﬁmmmt ?:«maﬁam"l 4

Explain with example how India is known as service provider to the world.

et / Geography
aqawﬂum / Short Answer Type Questions
T &t 218 257 Ay I &1 gF @ AR 3wyl & I T g v & v

2 3 Fraifra #1 3x2=6

Question Nos. 21 to 25 are Short Answer Type. Answer any 3 questions. Each question
cames 2 marks. 3x2=6
21, FEW TV, G @ o 68 TR W ¢ 2 | 2
How is crop rotation helpful in the conservation of s0il ?
y/qnﬁﬁaﬁ:ﬁ%m%mmmaﬁml | 2
Describe the causes of pollution of the rivers in India.
yﬂwﬁém%mmmmmaﬁhﬂl : 5

Mcntion four main factors of wildlife deterioration.
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AT I A md wdA A @ ¥ ) 2

What do you mcan by the conservation and management of mincrals ?

25 BRI @ IR U QAR 2 2

How is solar energy produced ?
T I W / Long Answer Type Questions
R¥T R&AT 26 Ua 27 T4 swere &1 a5 ® f5at o @7 307 ) 99w W9T & AU
4 3w fraifra #1 1x4=4

Question Nos. 26 and 27 are Long Answer Type. Answer any one of them. Each question

carmmes 4 marks. ] 4 =4
26.  IERIET, Frafrator s AT @ MY R wHeE 2 4

What do you mcan by liberalisation, privatisation and globalisation ?
ymﬁﬁquﬂmﬁwﬁmqﬁmaﬁﬂmmmﬁmﬁq‘ | 4
Describe the importance of transport and communication in Indian cconomy.

ATIST WSG9 / Disaster Management

aqz?rﬁum / Short Answer Type Quecstions
oY WEAr 287 31 7% 7Y 39T §1 30 @ gt 209 & Iv ¥ 1 4AF wyT F fov
2 % Fraifta 1 2x2=4

Question Nos. 28 1o 31 are Short Answer Type. Answer any 2 questions. Each question
carries 2 marks. ' 2x2=4

28. 9N fHa TR &1 &€t € 2 5

How many types of disaster are there ?
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29 SR fadym & fag qurg e

Suggest measures to control flood.
307 \ER i g & da st wme Wit
Differenuate between Earthquake and Tsunami.

31 swfEs wdva § wE wsa 6 e s el st

Describe the role of local administration in emergency management.
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